
tl;lj;jpd; ehz;fs; 

 tl;lnkhd;wpd; ehnzhd;wpd; eLg;Gs;spia ikaj;Jld; ,izf;Fk; NfhL 
me;ehZf;Fr; nrq;Fj;jhFk;. 

 tl;lnkhd;wpd; ikaj;jpypUe;J ehnzhd;Wf;F tiuag;gLk; nrq;Fj;jpdhy; 
me;ehz; ,Urk$wplg;gLk;. 

 

cjhuzk; :  

1. 𝑂 I ikakhff; nfhz;l tl;lj;jpd; ehz; 𝐴𝐵 ,d; ikag;Gs;sp 𝐶 

MFk;' 𝐶𝑂 𝐵 = 400 vdpd; 𝑂𝐵 𝐶 ,d; ngWkhdk; ahJ? 
 

𝑂𝐶 𝐵 = 900 

∴ 𝑂𝐵 𝐶 = 900 − 400 

𝑂𝐵 𝐶 = 500 
 

2. 𝑂 I ikakhff; nfhz;l tl;lj;jpd; ehz; 𝑋𝑌 ,w;F 

tiuag;gl;l nrq;Fj;J 𝑂𝑍 MFk;' 𝑋𝑌 = 12𝑐𝑚 ck; 𝑂𝑍 = 8𝑐𝑚 
ck; vdpd; tl;lj;jpd; Miuiaf; fhz;f. 

 

𝑂𝑍𝑌 Kf;Nfhzpf;F igjfu]; Njw;wj;ij gpuNahfpg;Nghk; 

      𝑂𝑌2 = 𝑂𝑍2 + 𝑍𝑌2 

𝑂𝑌2 = 82 + 62 

𝑂𝑌2 = 64 + 36 

𝑂𝑌2 = 100 

𝑂𝑌 = 10𝑐𝑚 

∴ Miu = 10𝑐𝑚 
gapw;rp : 

1. 𝑂 I ikakhff; nfhz;l tl;lj;jpd; ehz; 𝑃𝑄 ,d; ikag;Gs;sp 𝑅 MFk;' 𝑂𝑃 𝑅 = 350 

vdpd; 𝑃𝑂 𝑅 ,d; ngWkhdk; ahJ? 

2. 𝑂 I ikakhff; nfhz;l tl;lj;jpd; ehz; 𝐿𝑀 ,d; ikag;Gs;sp 𝑁 MFk;' 𝑁𝑂 𝑀 = 450 

vdpd; 𝑂𝑁𝑀 ,Urkgf;f Kf;Nfhzp vdf; fhl;Lf. 

3. tl;lnkhd;wpd; ikak;  𝐶 MFk;' ikaj;jpypUe;J tiuag;gl;l NfhL ehz; 𝐴𝐵 I 𝐷 

,y; re;jpf;fpd;wJ' ehz; 𝐴𝐵 ,d; ePsk; 24𝑐𝑚  MfTk;" 𝐶𝐷 = 5𝑐𝑚 MfTk; ,Ug;gpd;  
tl;lj;jpd; Miuiaf; fhz;f. 

4. 𝐴𝐵, 𝐵𝐶, 𝐶𝐴 Mfpad rkdhd %d;W ehz;fshFk;' ikaj;jpypUe;J ehz;  𝐴𝐵 ,w;F 

tiuag;gl;l Nfhl;bd; ePsk; 6𝑐𝑚 ck; tl;lj;jpd; Miu 10𝑐𝑚 ck; vdpd; Kf;Nfhzp  

𝐴𝐵𝐶 ,d; Rw;wsitf; fhz;f. 
5. tl;lnkhd;wpd;kPJ mike;j %d;W Gs;spfs; 𝑋, 𝑌, 𝑍 MFk;' 𝑋𝑌 = 𝑌𝑍 = 𝑍𝑋 vdpd;" 

ikaj;jpypUe;J ehz;fs; 𝑋𝑌, 𝑌𝑍, 𝑍𝑋 Mfpatw;wpw;F tiuag;gl;l NfhLfs; ePsj;jpy; 
rkdhdit vd epWTf.   
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